. =i
4 : 3 e
$tul) .((,,).:_g:; wrh)-
‘Fflf) 5 5/%! JW.&Q
/ : s Loy rvarvc fpﬁf o X
0 | l
X  x+h
ey @l
{(=5%5 - LL —
e 1 t %
7r)— Dwr, & (2#bh) — 60 -
‘( ale f—?o 7 '-;
— el .5.--:-—*
g-—& A
— bwr O
of =)
= O &= pals 7%
=5
i) = Zx 7
j 't i e 0= fom. Jff“‘é)_«l——a{)
jrfx>--3 iy 2
=S SOa4h)—3x
Sfar0 >
- = = =
= '{w A
= 5

7 et 9= Siro =7 sda)E 3

{(«“ﬁ’fﬂ‘—'— e + 9 'o0) 7 3

2/
Sumt 1 “’le = = ‘F
#ﬂé : 76!-"»’ e
4:? %) el e -
L e £tyed) +9let) — 4o gu |
k—ﬁ-ra 4

— 4 t’r%—‘iﬁk'() L= eth) — o)
f;é 24 = M"ﬂ_ﬁﬂ




fanr=x
=7 £t = hm ’#Qf-f‘é) #60)

H-=p A
”M.
= hn 6(4-4. T—x o 2
7 = 7

= L gf“..:- nx" 4 '4(5-')#"'2‘-*-..-*4“) -—é
-d-'-'#’ ‘&
n-342
_ N ) (3”/"/
“ ’@*4 "'
L

[ . \JO
/2""}‘((1(“)"; MXH ) L}o

o rle
Fﬂw

eyepe: Lr=x" =% {)=2c
5(}(’)-—)(? = j'fr)=—§(1

ft= 5% =7 L hI)=/0x

.
’f(;@#ﬂ-) = kﬂf_f)

)= X5 Y "r Bx*a x4 |
_.ﬁ_?zm/r_ S 124"+ Ox + /7




) Aco) = ‘F/:-r}‘j 6e)
‘ % E . AW =€6046) + €6 4°60)
////‘, "( (x) 2 . L :
1 4(x)

EM rlo: (‘Fj) f(k"): L’(x’b () + ‘-rar)j;kj )
4le9)= (&) + #(%)

GpefPe
c{—(,{) = (:ZMH)(BKE* '5'>

—"g')—z” - foat
Zh =1
= fb @xﬂ)(-;f?";)

o=
= bx 43"+ M0 +5

= b +/0 * 12+ 6x
= [’ tfor + /0 -



35{6’4}”‘*: 'L I =1 r"’ et :
()= = "), o5
5{({ =ne””
‘(’{K)}' il
— s |
"5:;

E, A
L4 ;(-.J!-ﬂ
B> 4
o0 L) aCE)
—— ﬁﬁ"'— —
Ly v (x#4)




"“;aﬂ/;éf;ﬂ:t a_f;:-';‘-“ﬁm(,;fj e

_.H T ‘ r f

(40)*
ﬁlm\;? : ?;(Cﬁﬂf)'—- o ‘g&"'}‘:":"’f— > {%)=0
ﬁ(ﬂx)'—i L _ﬁﬂ_:_hn._;pﬁoﬁ,)=ﬂ
P
% ( l“F) = K%;( Zalsr m-té;"zﬂ (/'-"O;(")"":‘ ek )
-((x}"-'— "= "ru)f-nx""

ﬁ(fj):%jmwﬁad% F’% ((j),(")‘:“f’j*-‘f—'g’

={c090) +099 %)

L



